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I AHE-01 I 

 

(APPLICATION ORIENTED COURSE) 

AHE-01 : HUMAN ENVIRONMENT 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt 9 questions in all. Question no. 1 is 
compulsory. 

1. 	(a) Fill in the blanks : 	 1x5=5 
(i) In an ecosystem the direction of the 

flow of solar energy is 	 
(ii) The expression of the production of 

new individuals in a population is 
called 	 

(iii) The main ore of aluminium is 

(iv) The widespread practice of releasing 
raw sewage into shallow soakpits 
causes 	 of ground water. 

(v) Some workers in textile factories are 
misled to believe that chewing tobacco 
with lime (chuna) does not cause 
disorders of the 
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(b) Define the following terms : 	 1x5=5 

(i) Carcinoma 

(ii) Endangered species 

(iii) Biosphere 

(iv) Immunity 

(v) Biotic community 

(c) Indicate whether the following statements 1x5=5 

are true (T) or false (F) : 

(i) Metastasis is an advanced stage of 

cancer. 

(ii) Renewable sources are also called 

stock sources. 

(iii) The whole of the Indian subcontinent 
is situated in the northern hemisphere. 

(iv) Photosynthesis provides us food to 
eat and oxygen to breathe. 

(v) Urbanisation is the process by which 
large numbers of people become 
temporarily concentrated in a small 

area. 

(d) Give your answer in not more than 
1x5=5 

one sentence : 

(i) Give the full form of BOD. 

(ii) Give the term used for the sudden 
and dramatic increase in the 
numbers of human population as 

observed in recent years. 
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(iii) What is the floor of the ocean 

extending from the edge of the 

continental shelf to the deepest ocean 
trenches called ? 

(iv) Excess of carbon dioxide, chloroflouro 

carbons and methane prevents the 

escape of solar heat from the earths's 

surface back into space. The effect 

that results is given a specific name. 
What is it ? 

(v) What is the term for diseases 

transmitting directly or indirectly 

from one human being to another 

through some agency such as air, 
water, food, etc. ? 

2. 	(a) List any five animals which are domesticated 	5 
by human beings, stating the purpose for 

which each of them is domesticated. 

(b) 'Inputs of new technological options in 	5 
agriculture have undoubtedly increased 

crop production, but at the same time these 

inputs have caused multiple environmental 

problems.' Discuss the statement. 

3. 	(a) State the various harmful effects of alcohol 	5 
abuse on the human body. 

(b) Name any five crop residues and mention 	5 
their potential alternative uses. 
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4. (a) Briefly describe the undesirable effects of 	5 

deforestation. 

	

(b) With the help of two examples, explain how 	5 

public awareness can help in environmental 

management ? 

5. (a) Suggest any two methods by which land 	5 

quality can be improved ? 

	

(b) Discuss the conservation of land resources 	5 

by the use of bio fertilizers that are 

innovative agricultural technology. 

6. (a) What is biomagnification ? Explain with 	5 

the help of a suitable example. 

(b) 

	

	Keeping in mind the definition of 'niche', 	5 

choose a familiar organism and describe its 

niche as completely as possible. 

7 	Differentiate between the following pairs of 
2x5=10 

terms : 

(a) Biome and community 

(b) Food chain and food - web 

(c) Savanna and Tundra 

(d) Industrial wastes and Domestic wastes 

(e) Traditional agriculture and modern 

agriculture 

8. 	Discuss the effects of land degradation caused by 
human activities . Add a note on rehabilitation 

of degraded land. 	 5+5=10 
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9. 	Discuss any two non-polluting energy systems that 10 

have been developed in India. 

10. Write short notes on any two of the following : 

(a) Biological pest control 	 2x5=10  

(b) Project Tiger 

(c) Bag Filters in management of air quality 

(d) Agrarian societies 

11. List four different ways of disposal of hazardous 

wastes. Describe the process involved in any two 
of these methods. 	 2+4+4=10 
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